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Lesson -3 Give and take

A. Tick the (V' ) correct answer.
. 10 less than 54 is
a. 24 b. 34 c. 54 d. 44

p—

2. 11 more than 51 1s

a. 42 b. 62 c.72 d. 52
3. 33 less than 99

a. 66 b. 56 c. 66 d. 76
4.45+56=40+5+50+

a. 4 b. 6 c.0 d.7

5. Sunita picked 136 seashells from the sea shore. Rahul picked 126 seashells from the sea
shore. How many seashells do they have all together?

a.436 b. 336 c.236 d. 536

B. Fill in the blanks.

1. Addition is my best friend. We never have a fight. When I am done. Call out to him. And
check if [ am right. [ am

2.275+ 348 =
3. 50+8=

4. Complete the following : 46 + 56 = 56+ =

5. Neeta runs a tea stall she has 150 biscuit packets. Nitin gave her 250 biscuit packets. How
many biscuit packets does she has now?
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C. Match the following.

e 10 less than 50 326

e 13 lessthan 27 10+90
e 10 more than 46 40

e 90+10 14

e 126+200 56

D. Solve the puzzle. Write the numbers 1, 2,3,4,5 and 6 in the circles, so that the sum of all
the numbers on each side of the figure is equal to 12.

E. Do as directed
1. Shaurya bought oranges for Rs.65 and Aadvik bought grapes for Rs.35. How much
money did they pay to the fruit seller?
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2. In a school some students like oranges and some students like bananas the school captain
was told to keep a record of it. Observe the table and answer the following questions.

Students Apples Bananas Total
Girls 256 145
Boys 436 327
Total =
a. How many students in the school like apples?
b. How many students in the school like bananas?
c. Altogether, how many students are there in the school?
d. Is the number of boys more than 750 or less than 7507
3. Add.
4 |5 |6 3 [5 [7
+ |2 |3 |4 + 16 |1 |2
7 12 |7 8 |2 |1
+11 (3 |0 + 3 |6

F. Help Chitti the ant to find the sweets she forgot in her rooms. Colour those rooms after
finding the answer of the questions given below.
I. 10 less than 50 =
Il. 12 less than 26=
. 77-37=
Iv. 40+50= +40=90
V. Reducing 89 by 42 gives
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Vi.
Vii.
Viil.
IX.
XI.
Xii.
Xiil.

Take 25 away from 50. We get

6 and 64 more 1s

9 added to 58 is

4 and 96 more is

The sum of 24 and 45 is
11 more than 61 is
60—-14=

11 more than 41 is
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